

Zhendong Gu; Daochun Sun
The growth of Dirichlet series

Czechoslovak Mathematical Journal, Vol. 62 (2012), No. 1, 29–38

Persistent URL: <http://dml.cz/dmlcz/142038>

Terms of use:

© Institute of Mathematics AS CR, 2012

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* <http://dml.cz>

THE GROWTH OF DIRICHLET SERIES

ZHENDONG GU, DAOCHUN SUN, Guangzhou

(Received July 12, 2010)

Abstract. We define Knopp-Kojima maximum modulus and the Knopp-Kojima maximum term of Dirichlet series on the right half plane by the method of Knopp-Kojima, and discuss the relation between them. Then we discuss the relation between the Knopp-Kojima coefficients of Dirichlet series and its Knopp-Kojima order defined by Knopp-Kojima maximum modulus. Finally, using the above results, we obtain a relation between the coefficients of the Dirichlet series and its Ritt order. This improves one of Yu Jia-Rong's results, published in *Acta Mathematica Sinica* 21 (1978), 97–118. We also give two examples to show that the condition under which the main result holds can not be weakened.

Keywords: Dirichlet series, order, abscissa of convergence

MSC 2010: 30B50

1. INTRODUCTION AND MAIN RESULT

Consider the Dirichlet series

$$f(s) = \sum_{n=0}^{+\infty} a_n e^{-\lambda_n s},$$

where $s = \sigma + it$ denotes the complex variable, $\{a_n\}$ is a sequence of complex numbers, and $0 = \lambda_0 < \lambda_1 < \lambda_2 < \dots < \lambda_n \uparrow +\infty$. Following Bohr [2], we define the quantities

$$\begin{aligned}\sigma_c &= \inf \left\{ \sigma \in \mathbb{R} : \sum a_n e^{-\lambda_n \sigma} \text{ converges.} \right\}, \\ \sigma_a &= \inf \left\{ \sigma \in \mathbb{R} : \sum |a_n| e^{-\lambda_n \sigma} \text{ converges.} \right\}, \\ \sigma_u &= \inf \left\{ \sigma \in \mathbb{R} : \sum a_n e^{-\lambda_n (\sigma + it)} \text{ converges uniformly on } \mathbb{R}. \right\}.\end{aligned}$$

Research was supported by the National Natural Science Foundation of China No. 11101096.

When $\sigma_u = -\infty$, $f(s)$ is an entire function. In this case, S. Mandelbrojt [4], M. Blambert [1], Yu Chia-Yung [14] have studied the relation between the growth of $f(s)$ and the coefficients. J. Ritt [6], S. Izumi [5], and K. Sugimura [7] have given formulas determining the order and the type of $f(s)$ in terms of a_n under an additional condition imposed upon $\{\lambda_n\}$. C. Tanaka [8] improved these formulas.

When $\sigma_u = 0$, by the method of J. Ritt [6], Yu Chia-Yung [15], [13] defined the order and type of $f(s)$ under the conditions

$$\overline{\lim}_{n \rightarrow +\infty} \frac{\ln |a_n|}{\lambda_n} = 0 \quad \text{and} \quad \overline{\lim}_{n \rightarrow +\infty} \frac{n}{\lambda_n} < +\infty,$$

and obtained some results between the growth of $f(s)$ and the coefficients, which extends some of G. Valiron's results [9]. In this paper, we improve one of his results.

Put

$$\Delta = \overline{\lim}_{k \rightarrow +\infty} \frac{\ln^+ \ln(p_k + 1)}{\ln k}, \quad \sigma_0 = \overline{\lim}_{n \rightarrow +\infty} \frac{\ln |a_n|}{\lambda_n},$$

where p_k is given by $[k, k+1) \cap \{\lambda_n\} = \{\lambda_{n_k}, \lambda_{n_k+1}, \dots, \lambda_{n_k+p_k}\}$, $k \in \mathbb{N}$. Moreover, let

$$M(\sigma) = \sup\{|f(\sigma + it)| : t \in \mathbb{R}\}.$$

Our main result is the following theorem.

Theorem 1. *Consider the Dirichlet series $f(s)$ with frequencies $\{\lambda_n\}$, $0 = \lambda_0 < \lambda_1 < \lambda_2 < \dots < \lambda_n \uparrow +\infty$. If $\sigma_0 = 0$ and $\Delta = 0$, then*

$$\overline{\lim}_{\sigma \rightarrow 0^+} \frac{\ln^+ \ln^+ M(\sigma)}{-\ln \sigma} = \varrho \Leftrightarrow \overline{\lim}_{n \rightarrow +\infty} \frac{\ln^+ \ln^+ |a_n|}{\ln \lambda_n} = \begin{cases} \frac{\varrho}{\varrho + 1}, & \varrho < +\infty; \\ 1, & \varrho = +\infty. \end{cases}$$

By Theorem 1, we deduce Yu Chia-Yung's result [15], [13] as Corollary 1. Then we give Example 1 to show that the condition $\Delta = 0$ is much less restrictive than the condition $\overline{\lim}_{n \rightarrow +\infty} n/\lambda_n < +\infty$, which implies that the Dirichlet series acts more or less like a power series. More precisely, we give Example 2 to show that the condition $\Delta = 0$ cannot be replaced by $\Delta < +\infty$.

2. LEMMAS

Throughout this section, $f(s)$ is a Dirichlet series with frequencies $\{\lambda_n\}$ as in the introduction. To give our lemmas, we define some symbols by the method of Knopp-Kojima [3]. For each $k \in \mathbb{N}$, when

$$(1) \quad [k, k+1) \cap \{\lambda_n\} = \{\lambda_{n_k}, \lambda_{n_k+1}, \dots, \lambda_{n_k+p_k}\} \neq \emptyset,$$

put

$$A_k = \max \left\{ \left| \sum_{j=0}^p a_{n_k+j} \right| : 0 \leq p \leq p_k \right\}; \quad A_k^* = \sum_{j=0}^{p_k} |a_{n_k+j}|;$$

$$\bar{A}_k = \sup_{0 \leq p \leq p_k, t \in \mathbb{R}} \left| \sum_{j=0}^p a_{n_k+j} e^{-it\lambda_{n_k+j}} \right|;$$

when $[k, k+1) \cap \{\lambda_n\} = \emptyset$, put $\ln A_k = \ln A_k^* = \ln \bar{A}_k = -\infty$. Then we have formulas [3], [10] for the abscissas $\sigma_c, \sigma_u, \sigma_a$ in terms of A_k, \bar{A}_k, A_k^* ,

$$\sigma_c = \overline{\lim}_{k \rightarrow +\infty} \frac{\ln A_k}{k}; \quad \sigma_u = \overline{\lim}_{k \rightarrow +\infty} \frac{\ln \bar{A}_k}{k}; \quad \sigma_a = \overline{\lim}_{k \rightarrow +\infty} \frac{\ln A_k^*}{k}.$$

When $\sigma_u < +\infty$, for any $\sigma > \sigma_u$ put

$$\bar{M}_u(\sigma) = \sup \left\{ \left| \sum_{j=0}^n a_j e^{-\lambda_j(\sigma+it)} \right| : n \in \mathbb{N}, t \in \mathbb{R} \right\};$$

$$\bar{m}(\sigma) = \max \{ \bar{A}_k e^{-k\sigma} : k \in \mathbb{N} \};$$

$$\varrho_u = \overline{\lim}_{\sigma \rightarrow 0^+} \frac{\ln^+ \ln^+ \bar{M}_u(\sigma)}{-\ln \sigma}; \quad \varrho_\mu = \overline{\lim}_{\sigma \rightarrow 0^+} \frac{\ln^+ \ln^+ \bar{m}(\sigma)}{-\ln \sigma}.$$

Lemma 1. *Suppose $\sigma_u < +\infty$, then*

- (I) $\bar{m}(\sigma) \leq 4e^{|\sigma|} \bar{M}_u(\sigma)$ ($\sigma > \sigma_u$);
- (II) if $\sigma_u = 0$, $\varepsilon > 0$, then $\bar{M}_u(\sigma) \leq \bar{m}((1-\varepsilon)\sigma)/(1-e^{-\varepsilon\sigma})$ ($\sigma > 0$);
- (III) if $\sigma_u = 0$, then $\varrho_u = \varrho_\mu$.

Proof. Take $p \in \mathbb{N}$ such that $n_k + p < n_{k+1}$, where n_k is defined by (1). Using Abel's transformation, we obtain

$$\begin{aligned} \sum_{j=n_k}^{n_k+p} a_j e^{-it\lambda_j} &= \sum_{j=n_k}^{n_k+p} a_j e^{-(\sigma+it)\lambda_j} e^{\sigma\lambda_j} \\ &= \sum_{j=n_k}^{n_k+p-1} \sum_{q=n_k}^j a_q e^{-(\sigma+it)\lambda_q} (e^{\sigma\lambda_j} - e^{\sigma\lambda_{j+1}}) + \sum_{q=n_k}^{n_k+p} a_q e^{-(\sigma+it)\lambda_q} e^{\sigma\lambda_{n_k+p}}. \end{aligned}$$

Noting that

$$\left| \sum_{q=n_k}^j a_q e^{-(\sigma+it)\lambda_q} \right| \leq 2\overline{M}_u(\sigma),$$

we conclude that

$$\overline{A}_k \leq 2\overline{M}_u(\sigma) |e^{\sigma\lambda_{n_k}} - e^{\sigma\lambda_{n_k+p}}| + 2e^{\sigma\lambda_{n_k+p}} \overline{M}_u(\sigma) \leq 4\overline{M}_u(\sigma) e^{(k+\text{sgn}\sigma)\sigma}.$$

This gives (I).

Now we prove (II). Suppose $n_k + p < n_{k+1}$. Using Abel's transformation, we arrive at

$$\begin{aligned} & \sum_{j=n_k}^{n_k+p} a_j e^{-(\sigma+it)\lambda_j} \\ &= \sum_{j=n_k}^{n_k+p-1} \sum_{q=n_k}^j a_q e^{-it\lambda_q} (e^{-\sigma\lambda_j} - e^{-\sigma\lambda_{j+1}}) + \sum_{q=n_k}^{n_k+p} a_q e^{-it\lambda_q} e^{-\sigma\lambda_{n_k+p}}. \end{aligned}$$

So, when $\sigma > 0$,

$$\begin{aligned} \left| \sum_{j=n_k}^{n_k+p} a_j e^{-(\sigma+it)\lambda_j} \right| &\leq \overline{A}_k \sum_{j=n_k}^{n_k+p-1} (e^{-\sigma\lambda_j} - e^{-\sigma\lambda_{j+1}}) + \overline{A}_k e^{-\sigma\lambda_{n_k+p}} \\ &= \overline{A}_k e^{-\sigma\lambda_{n_k}} \leq \overline{A}_k e^{-\sigma k}. \end{aligned}$$

Therefore,

$$\begin{aligned} \left| \sum_{j=0}^{n_k+p} a_j e^{-(\sigma+it)\lambda_j} \right| &\leq \sum_{j=0}^k \overline{A}_j e^{-\sigma j} = \sum_{j=0}^k \overline{A}_j e^{-(1-\varepsilon)\sigma j} e^{-j\varepsilon\sigma} \\ &\leq \overline{m}((1-\varepsilon)\sigma) \sum_{j=0}^k e^{-j\varepsilon\sigma} \leq \frac{\overline{m}((1-\varepsilon)\sigma)}{1 - e^{-\varepsilon\sigma}}. \end{aligned}$$

This gives (II).

Since $\ln^+ \ln^+ \overline{m}(\sigma) \leq \ln^+ \ln^+ \frac{1}{4} e^{-\sigma} \overline{m}(\sigma) + \ln^+ \ln^+ 4e^\sigma + \ln 2$, we have

$$\overline{\lim}_{\sigma \rightarrow 0^+} \frac{\ln^+ \ln^+ \overline{m}(\sigma)}{-\ln \sigma} \leq \overline{\lim}_{\sigma \rightarrow 0^+} \frac{\ln^+ \ln^+ \frac{1}{4} e^{-\sigma} \overline{m}(\sigma)}{-\ln \sigma}.$$

On the other hand,

$$\begin{aligned} \overline{\lim}_{\sigma \rightarrow 0^+} \frac{\ln^+ \ln^+ \frac{\overline{m}((1-\varepsilon)\sigma)}{1 - e^{-\varepsilon\sigma}}}{-\ln \sigma} &\leq \overline{\lim}_{\sigma \rightarrow 0^+} \frac{\ln^+ \ln^+ \overline{m}((1-\varepsilon)\sigma)}{-\ln \sigma} + \overline{\lim}_{\sigma \rightarrow 0^+} \frac{\ln^+ \ln^+ (1 - e^{-\varepsilon\sigma})^{-1}}{-\ln \sigma} \\ &= \overline{\lim}_{\sigma \rightarrow 0^+} \frac{\ln^+ \ln^+ \overline{m}(\sigma)}{-\ln \sigma}. \end{aligned}$$

Thus (III) is proved. \square

Lemma 2. *If $\sigma_u = 0$, then*

$$\overline{\lim}_{k \rightarrow +\infty} \frac{\ln^+ \ln^+ \overline{M}_u(\sigma)}{-\ln \sigma} = \varrho_u \Leftrightarrow \overline{\lim}_{k \rightarrow +\infty} \frac{\ln^+ \ln^+ \overline{A}_k}{\ln k} = \begin{cases} \frac{\varrho_u}{\varrho_u + 1}, & \varrho_u < +\infty; \\ 1, & \varrho_u = +\infty. \end{cases}$$

Proof. Consider the case $\varrho_u < +\infty$. We prove the necessity of the right-hand side condition. By Lemma 1(III), for all $\varepsilon > 0$, when $\sigma > 0$ is sufficiently small,

$$\overline{m}(\sigma) < \exp \left\{ \left(\frac{1}{\sigma} \right)^{\varrho_u + \varepsilon} \right\}.$$

Since

$$\min \left\{ k\sigma + \left(\frac{1}{\sigma} \right)^{\varrho_u + \varepsilon} : \sigma > 0 \right\} = (\varrho_u + \varepsilon + 1) \left(\frac{k}{\varrho_u + \varepsilon} \right)^{(\varrho_u + \varepsilon)/(\varrho_u + \varepsilon + 1)},$$

it follows that for sufficiently large $k \in \mathbb{N}$,

$$\overline{A}_k \leq \exp \left\{ (\varrho_u + \varepsilon + 1) \left(\frac{k}{\varrho_u + \varepsilon} \right)^{(\varrho_u + \varepsilon)/(\varrho_u + \varepsilon + 1)} \right\}.$$

So, as $\varepsilon \rightarrow 0$,

$$\overline{\lim}_{k \rightarrow +\infty} \frac{\ln^+ \ln^+ \overline{A}_k}{\ln k} \leq \frac{\varrho_u}{\varrho_u + 1}.$$

As for the converse, suppose that $\overline{\lim}_{k \rightarrow +\infty} \ln^+ \ln^+ \overline{A}_k / \ln k < \varrho_u / (\varrho_u + 1)$. There exist $0 < \varrho'_u < \varrho_u$ such that for any $k \in \mathbb{N}$,

$$\overline{A}_k < \exp(k^{\varrho'_u / (\varrho'_u + 1)}).$$

Since

$$\max\{(k^{\varrho'_u / (\varrho'_u + 1)} - k\sigma) : k \geq 0\} = \frac{1}{\varrho'_u + 1} \left(\frac{\varrho'_u}{\varrho'_u + 1} \frac{1}{\sigma} \right)^{\varrho'_u},$$

we have

$$\overline{A}_k e^{-k\sigma} < \exp \left\{ \frac{1}{\varrho'_u + 1} \left(\frac{\varrho'_u}{\varrho'_u + 1} \frac{1}{\sigma} \right)^{\varrho'_u} \right\}.$$

Thus

$$\overline{m}(\sigma) \leq \exp \left\{ \frac{1}{\varrho'_u + 1} \left(\frac{\varrho'_u}{\varrho'_u + 1} \frac{1}{\sigma} \right)^{\varrho'_u} \right\}.$$

Hence, by Lemma 1(III),

$$\overline{\lim}_{k \rightarrow +\infty} \frac{\ln^+ \ln^+ \overline{M}_u(\sigma)}{-\ln \sigma} \leq \varrho'_u < \varrho_u,$$

which contradicts the left-hand side condition of the theorem. Thus we have proved the necessity of the right-hand side condition. The sufficiency of the right-hand side condition follows easily in a similar manner and is left to the reader.

Consider the case $\varrho_u = +\infty$. We then have

$$\overline{\lim}_{k \rightarrow +\infty} \frac{\ln^+ \ln^+ \overline{A}_k}{\ln k} = 1.$$

Otherwise, assume that $\overline{\lim}_{k \rightarrow +\infty} \ln^+ \ln^+ \overline{A}_k / \ln k < 1$. Then there exists $\varrho''_u < +\infty$ such that

$$\overline{\lim}_{k \rightarrow +\infty} \frac{\ln^+ \ln^+ \overline{A}_k}{\ln k} = \frac{\varrho''_u}{\varrho''_u + 1}.$$

Clearly, by the case $\varrho_u < +\infty$, this yields a contradiction. \square

Lemma 3. *If $\Delta = 0$, then $\sigma_c = \sigma_u = \sigma_a = \sigma_0$.*

P r o o f. Since $\Delta = 0$, for any $\varepsilon > 0$ there exists $K \in \mathbb{N}$ such that for any $k > K$,

$$p_k \leq e^{k^\varepsilon} - 1.$$

For any sufficiently large n satisfying $\lambda_n \geq K + 1$,

$$n < n_{K+1} + \sum_{i=K+1}^{[\lambda_n]} p_i < n_{K+1} + \sum_{i=K+1}^{[\lambda_n]} (e^{i^\varepsilon} - 1) \leq n_{K+1} + [\lambda_n](e^{[\lambda_n]^\varepsilon} - 1),$$

where $[\lambda_n]$ denotes the integer part of λ_n . Then

$$\begin{aligned} \overline{\lim}_{n \rightarrow +\infty} \frac{\ln n}{\lambda_n} &\leq \overline{\lim}_{n \rightarrow +\infty} \frac{\ln(n_{K+1} + [\lambda_n](e^{[\lambda_n]^\varepsilon} - 1))}{[\lambda_n]} \\ &\leq \overline{\lim}_{n \rightarrow +\infty} \frac{\ln n_{K+1}}{[\lambda_n]} + \overline{\lim}_{n \rightarrow +\infty} \frac{\ln[\lambda_n]}{[\lambda_n]} + \overline{\lim}_{n \rightarrow +\infty} \frac{[\lambda_n]^\varepsilon}{[\lambda_n]} = 0. \end{aligned}$$

By G. Valiron's formula [10], [11]

$$\overline{\lim}_{n \rightarrow +\infty} \frac{\ln |a_n|}{\lambda_n} \leq \sigma_c \leq \sigma_u \leq \sigma_a \leq \overline{\lim}_{n \rightarrow +\infty} \frac{\ln |a_n|}{\lambda_n} + \overline{\lim}_{n \rightarrow +\infty} \frac{\ln n}{\lambda_n}.$$

The conclusion now follows. \square

3. THE PROOF OF THEOREM 1

Proof. Since $\Delta = 0, \sigma_0 = 0$, by Lemma 3 we have $\sigma_c = \sigma_u = \sigma_a = 0$.

Consider the case $\varrho < +\infty$. We first prove the necessity of the right-hand side condition. Since $\overline{M}_u(\sigma) \geq M(\sigma)$, we have $\varrho_u \geq \varrho$.

For any $\varepsilon > 0$, when $\sigma (> 0)$ is sufficiently small,

$$M(\sigma) < \exp\{\sigma^{-(\varrho+\varepsilon)}\}.$$

Take account of Hadamard's theorem [12], $a_n e^{-\lambda_n \sigma} \leq M(\sigma)$ and

$$\min\{\sigma^{-(\varrho+\varepsilon)} + \lambda_n \sigma : \sigma > 0\} = (\varrho + \varepsilon + 1) \left(\frac{\lambda_n}{\varrho + \varepsilon} \right)^{(\varrho+\varepsilon)/(\varrho+\varepsilon+1)}.$$

Therefore, for sufficiently large $n \in \mathbb{N}$,

$$|a_n| < \exp \left\{ (\varrho + \varepsilon + 1) \left(\frac{\lambda_n}{\varrho + \varepsilon} \right)^{(\varrho+\varepsilon)/(\varrho+\varepsilon+1)} \right\}.$$

So, as $\varepsilon \rightarrow 0$,

$$\overline{\lim}_{n \rightarrow +\infty} \frac{\ln^+ \ln^+ |a_n|}{\ln \lambda_n} \leq \frac{\varrho}{\varrho + 1}.$$

Suppose $\overline{\lim}_{n \rightarrow +\infty} \ln^+ \ln^+ |a_n| / \ln \lambda_n < \varrho / (\varrho + 1)$. Then there exists $0 \leq \varrho' < \varrho$ such that for sufficiently large $n \in \mathbb{N}$,

$$|a_n| < \exp\{\lambda_n^{\varrho' / (\varrho' + 1)}\}.$$

Then for sufficiently large $k \in \mathbb{N}$,

$$\overline{A}_k < \sum_{j=n_k}^{n_k+p_k} \exp\{\lambda_j^{\varrho' / (\varrho' + 1)}\} < \exp\{(k+1)^{\varrho' / (\varrho' + 1)} + \ln(p_k + 1)\}.$$

Since $\Delta = 0$, we conclude that

$$\overline{\lim}_{k \rightarrow +\infty} \frac{\ln^+ \ln^+ \overline{A}_k}{\ln k} \leq \frac{\varrho'}{\varrho' + 1} < \frac{\varrho}{\varrho + 1}.$$

By Lemma 2, $\varrho_u < \varrho$, which contradicts $\varrho_u \geq \varrho$. Hence,

$$\overline{\lim}_{n \rightarrow +\infty} \frac{\ln^+ \ln^+ |a_n|}{\ln \lambda_n} = \frac{\varrho}{\varrho + 1}.$$

Second, we prove the sufficiency of the right-hand side condition. For any $\varepsilon > 0$, when n is sufficiently large,

$$|a_n| < \exp\{\lambda_n^{(\varrho+\varepsilon)/(\varrho+\varepsilon+1)}\}.$$

Then for sufficiently large $k \in \mathbb{N}$,

$$\overline{A}_k < \sum_{j=n_k}^{n_k+p_k} \exp\{\lambda_j^{(\varrho+\varepsilon)/(\varrho+\varepsilon+1)}\} < \exp\{(k+1)^{(\varrho+\varepsilon)/(\varrho+\varepsilon+1)} + \ln(p_k+1)\}.$$

Since $\Delta = 0$, then as $\varepsilon \rightarrow 0$,

$$\overline{\lim}_{k \rightarrow +\infty} \frac{\ln^+ \ln^+ \overline{A}_k}{\ln k} \leq \frac{\varrho}{\varrho+1}.$$

By Lemma 2, $\varrho_u \leq \varrho$. Since $M(\sigma) \leq \overline{M}_u(\sigma)$, we have

$$\overline{\lim}_{\sigma \rightarrow 0^+} \frac{\ln^+ \ln^+ M(\sigma)}{-\ln \sigma} \leq \varrho.$$

If the equality does not hold, then by the necessity of the right-hand side condition,

$$\overline{\lim}_{n \rightarrow +\infty} \frac{\ln^+ \ln^+ |a_n|}{\ln \lambda_n} < \frac{\varrho}{\varrho+1},$$

which contradicts the right-hand side condition. Thus the sufficiency of the right-hand side condition is proved. Therefore the case $\varrho < +\infty$ is proved.

By the case $\varrho < +\infty$, it is easy to prove the case $\varrho = +\infty$. Thus Theorem 1 is proved. \square

4. COROLLARY AND EXAMPLES

By Theorem 1, we can deduce Yu Jia-Rong's result [15], Theorem 2.2.

Corollary 1 [15]. *Let $f(s)$ be a Dirichlet series with frequencies $\{\lambda_n\}$ as in the introduction. If $\sigma_0 = 0$ and $\overline{\lim}_{n \rightarrow +\infty} n/\lambda_n = D < +\infty$, then*

$$(2) \quad \overline{\lim}_{\sigma \rightarrow 0^+} \frac{\ln^+ \ln^+ M(\sigma)}{-\ln \sigma} = \varrho \Leftrightarrow \overline{\lim}_{n \rightarrow +\infty} \frac{\ln^+ \ln^+ |a_n|}{\ln \lambda_n} = \begin{cases} \frac{\varrho}{\varrho+1}, & \varrho < +\infty; \\ 1, & \varrho = +\infty. \end{cases}$$

Proof. Since $\overline{\lim}_{n \rightarrow +\infty} n/\lambda_n = D < +\infty$, hence for any $\varepsilon > 0$ there exists N such that for any $n > N$,

$$p_{[\lambda_n]-1} \leq n < \lambda_n(D + \varepsilon) < ([\lambda_n] + 1)(D + \varepsilon).$$

Therefore,

$$\Delta = \overline{\lim}_{n \rightarrow +\infty} \frac{\ln^+ \ln(p_{[\lambda_n]-1} + 1)}{\ln([\lambda_n] - 1)} \leq \overline{\lim}_{n \rightarrow +\infty} \frac{\ln^+ \ln(([\lambda_n] + 1)(D + \varepsilon) + 1)}{\ln([\lambda_n] - 1)} = 0.$$

Hence $\Delta = 0$. Since $\sigma_0 = 0$, (2) holds by Theorem 1. \square

Now we give two examples. Example 1 shows that $\Delta = 0$ is weaker than $\overline{\lim}_{n \rightarrow +\infty} n/\lambda_n < +\infty$. Example 2 shows that $\Delta = 0$ cannot be weakened to $\Delta < +\infty$.

Example 1. Consider a Dirichlet series $f(s)$ with frequencies $\{\lambda_n\}$ as in the introduction. Take $a_n = 1$, $n = 0, 1, 2, \dots$. When $\frac{1}{2}k(k+1) < n \leq \frac{1}{2}(k+1)(k+2)$, take $\lambda_{\frac{1}{2}k(k+1)+1+p} = k + p/(k+1)$, where $0 \leq p < k+1$. It is evident that $\sigma_0 = 0$, $\Delta = 0$ (but $\overline{\lim}_{n \rightarrow +\infty} n/\lambda_n = +\infty$). Since $\overline{\lim}_{n \rightarrow +\infty} \ln^+ \ln^+ |a_n|/\ln \lambda_n = 0$, by Theorem 1 we infer $\varrho = 0$.

Example 2. Consider a Dirichlet series $f(s)$ with frequencies $\{\lambda_n\}$ as in the introduction. Take $a_n = (-1)^n$, $n = 0, 1, 2, \dots$. When $2^k \leq n < 2^{k+1}$, take $\lambda_n = \lambda_{2^k+p} = k + p/2^k$, where $0 \leq p < 2^k$. It is easily seen from the formulas for the abscissas $\sigma_c, \sigma_u, \sigma_a$ in terms of A_k, \bar{A}_k, A_k^* in Section 2 that $\sigma_c = 0$ and $\sigma_a = \ln 2$. Since

$$\begin{aligned} \bar{A}_k &\geq \left| \sum_{j=0}^{2^k-1} (-1)^j e^{-i(2^k k\pi + j\pi)} \right| = \left| \sum_{j=0}^{2^k-1} (-1)^j e^{-ij\pi} \right| \\ &= \left| \sum_{j=0}^{2^k-1} (-1)^j (\cos j\pi + i \sin j\pi) \right| = 2^k, \end{aligned}$$

hence

$$\sigma_u = \overline{\lim}_{k \rightarrow +\infty} \frac{\ln \bar{A}_k}{k} = \ln 2.$$

We can see from this example that $\sigma_u = \sigma_a = \ln 2$ and $\sigma_c = 0$, while $\Delta = 1$ and $\sigma_0 = 0$. The conclusion of Theorem 1 does not hold for this Dirichlet series, as $M(\sigma)$ is infinite for $\sigma < \ln 2$, while $\ln^+ |a_n| \equiv 0$.

References

- [1] *M. Blambert*: Sur la notion de type de l'ordre d'une fonction entière. *Ann. Sci. Éc. Norm. Supér.*, III. Sér. 79 (1962), 353–375. (In French.)
- [2] *H. Bohr*: *Collected Mathematical Works*. Copenhagen, 1952, pp. 992.
- [3] *K. Knopp*: Über de Konvergenzabszisse des Laplace-Integrals. *Math. Z.* 54 (1951), 291–296. (In German.)
- [4] *S. Mandelbrojt*: *Séries de Dirichlet. Principe et Méthodes*, Paris, Gauthier-Villars, 1969, pp. 165. (In French.)
- [5] *S. Izumi*: Integral functions defined by Dirichlet's series. *Japanese Journ. of Math.* 6 (1929), 199–204.
- [6] *J. F. Ritt*: On certain points in the theory of Dirichlet series. *Amer. J.* 50 (1928), 73–86.
- [7] *K. Sugimura*: Übertragung einiger Sätze aus der Theorie der ganzen Funktionen auf Dirichletsche Reihen. *M. Z.* 29 (1928), 264–277. (In German.)
- [8] *C. Tanaka*: Note on Dirichlet series. V: On the integral functions defined by Dirichlet series. (I.). *Tôhoku Math. J.*, II. Ser. 5 (1953), 67–78.
- [9] *G. Valiron*: Sur la croissance du module maximum des séries entières. *S. M. F. Bull.* 44 (1916), 45–64. (In French.)
- [10] *G. Valiron*: Sur l'abscisse de convergence des séries de Dirichlet. *S. M. F. Bull.* 52 (1924), 166–174. (In French.)
- [11] *G. Valiron*: Entire functions and Borel's directions. *Proc. Natl. Acad. Sci. USA* 20 (1934), 211–215.
- [12] *G. Valiron*: *Théorie Générale des Séries de Dirichlet*. Paris, Gauthier-Villars (Mémorial des sciences mathématiques, fasc. 17) (1926), pp. 56. (In French.)
- [13] *Ch.-Y. Yu*: Dirichlet series, Analytic functions of one complex variable. *Contemp. Math.*, 48, Amer. Math. Soc., Providence, RI (1985), 201–216.
- [14] *Ch.-Y. Yu*: Sur les droites de Borel de certaines fonctions entières. *Ann. Sci. Éc. Norm. Supér.*, III. Sér. 68 (1951), 65–104. (In French.)
- [15] *J.-R. Yu*: Some properties of random Dirichlet series. *Acta Math. Sin.* 21 (1978), 97–118. (In Chinese.)

Authors' addresses: Zhendong Gu, School of Mathematical Sciences, South China Normal University, Guangzhou, People's Republic of China. Postal Code: 510631, e-mail: guzhd@qq.com; Daochun Sun, School of Mathematical Sciences, South China Normal University, Guangzhou, People's Republic of China. Postal Code: 510631, e-mail: sundch@scnu.edu.cn.